A = BW-10G3
kW 2325.5
#, H s
kcal/h 2,000,000
& B A £l IEAE AZEH LPG 13A
A EH L/h 259.1
R
LPG Nm3/h 105.2
HE=E
X1 13A Nm3/h 229.6
B B K @\ K MPa 0(fEEAERK)
= # i3] i m? 94
e B 7K = L 6,500
=5 R =48 AC200V 50/60Hz
BAERBEEE N | W 400
N — =B v kW 7.5
gl il sl = Eb150 %) 2D
st B(NXIEHSR) 2.E— 2088 RE
e B o —EX&Xwy b AZTEREHIEEE
F7 3 BREoe
&l HH &= = kg 6,800

(KL)MELEES 1L, A B MELE 0.86 - (R FENVE 42.7MJ/kg(10,200kcal/kg). #THLLE 0.79 - {EKAF#E 43.5MJ/kg(10,400kcal/kg)
13A DIERIFEBE 41.44M)/m3, LPG OEMIFHEAE 90.42M)/m3 2 HEEICEH L TWET,

[/E ,§\]

CROBENGEE B Y ES, HEBREIBERCADEARTRIET 27O HEBENLBBEHRECTELRV £,
RGO TIHMREBR L EDTd, FERLICEETZZeAHYET,




